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June 3, 2016

10:24 AM

Name:

Ky,

Date:

Math 9 Enriched: Assignment 7.5 Intersecting Chords, Secants, and Tangents in Circles

1. Find the length of the missing sides for each of the following:

ajAX=9,XC=4,DX=
D Z\,

b) AE=8,EC=3,BE=ED=7

2570’

c)DX=1,BX=2,DC=9,BA= %

A 4
n
B ’
A b
« C
d) OX =CX=4cm. AB= e)CD=8DE=12,CB=10,BA=x f)
2] % % Find the value of “x"
K K
D D
¢ C
A B B B
- A A
g)AE=x+4,ED=x BE=x-1, h) AD is a tangent, AD=6, AC=9, i)TR="?

EC=x=2. Solve for “x"

What is AB?

p =9
A

B
«
D) x= k) x= 3 I} x=
HES =8
X, b
0 ’ N
*x
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2. Prove the following equation: PAe PB=PX e P}

L. ppx= ({PB  LANK= LAPX

CYPB= 23¥R
ASRPX~BPY
AP py

W:E N PA‘PB:D\T}vDPX

3. Prove the following equaton: [’ PB = PX e 'Y

LPRAX= 2LBYP “APAXA~AAMNR

PA _ pv
X o PRPREH-TY

4. Prove the following equation: P4 PE = [PX ]2

P A . LAX(Pi /_PRX

. NP PR~ NPXR

B PX -
_— . PRr= @X

" en Pp - PR @0

5. AB=6,BC=9, and AE = 18. Find AF:

CAR(AO)= (AD): 1 AD= RJio
(AD) (AE) = (AD) " BF-=S

6. AB=8,BD =7, and DE = 12. Find the lenght of BC.
2¢7 X cO=7-X
(ALY (CT) = (80D = (Re) (CF)
(8 +20(T—0) = b0 (1)
SErX P 2 [ Tx—x2

_2s
X= 3
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7. Given that JK=10,JL =3, MN = 4, and PN = 8, Find the length of JP.

L TPzo  IW=X

Moy eyt =g =2
,. CeT)IW) = (LDED - Te=2
4 8
8. Find the length of “x + y"

(25 = ¢ (fo%j)
WB
3 (20 = g(,¢g(¢<+\y>
/>(+j:°§

9. For the two concentric circles shown, find the value of “y" to 2 decimal places.
/ 125 = L-%x. ~x=10
a X9 yss

/ \j =

10. Part of a circular plate has the measurements given on the diagram. Show two or more ways to calculate the
radius of the plate.

l’l'z ;Q[QT‘\’{"-’Q) r1:((’-’é,)24 \zl
le 1A= e-30 2 m3Y
24 cm =8 =<

11. In the diagram, C is the centre of the circle and AD is tangent to the circle at D. AC is a straight line. If AD =
10, and AB = 7, what is the length of “BC"?

J151-7 1 N 7
) i (off e o5
RC=OH=x
g (2320 =167+ %™
A 5 A SNSRIV I
_ 51
X= T
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12. Two circle are shown in the diagram. The larger circle has radius 2, an d the smaller circle has radius 1 and its
centre is on the circumference of the larger circle. What is the length of chord AB?

@Jf b}% o AT " N N
paP=x;y PO 2oy
[(Ln)nc=yb = [ln) (g5 At

E
13. In the diagram, O is the centre of the circle with radius “r". ED ="r" and ZDEC = kxABOA What is the
value of “k"?

B BOL a2 0RY =y - LROD = 1F by
/D@\ CEDD=I¥d-- Lpeo=¢ pog- X
E c 0 a4 LRbac 2,y LDQ_L:% £ Roh \K,,\,

14. In the circle shown, line segment CD is perpendicular to the chord AB. Further AC=4, CD =6, and BC=17.
What is the radius of the circle?

a) 5 b) 11 c) 2 d) 513 e) 13
6 2
LDOLQFL (AQUgQ (F= au\
Op=Z 4y = L}- oF = s
J - 2=
15. A circle of radius 1 has centre near one vertex of a square in such a way that AB = BC = “a”. What is the value

of “a" for which the distance OB is equal to %47?
,qg - (R; LDBP{SQV

(A) \-'-52_ 1 @ \/;\:;21 (C) \.-.-ﬁ.z+ 1 ; R H B Drp p\g Z )»1

/T+1 L VT=1 g
e Y, . OP‘”) Ap= 12

16. Two circle are tangent to each other at “A" and the centre of the larger circle is at “C". The lines AB and FC are

perpendicular diameters of the larger circle. If BD = 9cm and FE = 5cm, the what is the radius of the smaller
circle?

(a) 14 (b) 18 (e) 194

@20% (e) 21

Pc=R ,R(R-a) = (R-3)"
— AR =RT_1bRY25

R= 25
o 25 (25-]) = )
>
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